[IpocTenumm HUKINYeCKUM
a/ITOPUTM, 3alTMCAHHBIU Ha

AJITOPUTMHUYHECCKOM A3bIKE




3azaJa 1

ANropurMmMYEeCcKmUn A3biK

bencunk

Nackanb

anr
Hay
uens, k
HUana kor3 007
s:=s+6
KU
BbIBOA S
KOH

DIM k, s AS INTEGER
s=0

FORk=3T0O7
s=s5s+6

NEXT k

PRINT s

Var s,k: integer;
Begin
s :=0;
fork:=3to7do
S:=5+ 0;
writeln(s);
End.




3azaya 2

ANropurMmMUYeCcKmMn A3biK

bencuk

NMNackanb

anr

Hay

uens, k

s:=0

HU ana kot 4 oo 8
s:=s+7

KU,

BbIBOA S

KOH

DIM k, s AS INTEGER
s=0

FORk=4T08
s=S+7

NEXT k

PRINT s

Var s,k: integer;
Begin
s :=0;
fork :=4to8do
s:=8+7;
writeln(s);
End.




3a/iava 3

ANropuTtMMUYEeCcKun A3bIK

bencuk

IMackanb

anr

Hay
uens, k
s:=0

HUana kor4 oo 7
s:=s+ 8

KLU

BbIBOA S

KOH

DIM k, s AS INTEGER
s=0

FORk=4T07
s=s5+8

NEXT k

PRINT s

Var s, k: integer;
Begin
s :=0;
fork:=4to7do
s:=6§+8;
writeln(s);
End.




3a/ia4a 4

ANropuTMMYECKHNN A3bIK

bencuk

NNackanb

anr

Hay

uens, k

Sa=1)

HU ana kot 3 ao 8
s:=s5s+6

Ky

BbIBOA S

KOH

DIM k, s AS INTEGER
S =190

FORk=3T0O8
s=s+6

NEXT k

PRINT s

Var s,k: integer;
Begin
s:=0;
fork := 3to8do
s:=5+ 06;
writeln(s);
End.




3ajiaya 5

ANropurMmMUYeCcKmMn A3biK bencuk Nackanb

anr

Hay Var s, k: integer;
uens, k SDI=M0k, s AS INTEGER Begin

s:=0 s :=0;
HUaAna koT 3 a0 8 S=£2R9K—3T08 fork := 3to 8 do
s:=5+9 NEXT k S:=s5+09;

KL PRINT < writeln(s);
BblBOA S End.

KOH




3azaya 6

ANropurMMUYECKUN A3bIK

bencuk

INackanb

anr

Hay
uens, k
s:=0

HU ana k ot 3 oo 8
s:=s+7

KY

BblBOA S

KOH

DIM k, s AS INTEGER
s=0

FORk=3T0OS8
s=s5+7

NEXT k

PRINT s

Var s,k: integer;
Begin
s :=0;
fork :=3to8do
s:=s8+7/;
writeln(s);
End.




